[image: image1.jpg]my revisivn notes





AQA AS Business Studies

1 First steps in planning

a An entrepreneur is a person who is willing to take a risk (1 mark) in starting a new enterprise (1 mark). 

b Answers may include the following:

· Paula wanted the interest and excitement of running her own business – she considered her current job to be ‘boring’.

· She may want to create a business that she can pass onto her children – she has two daughters.

· Paula has a talent that she wants to turn into a commercial skill – she is an experienced and skilled dressmaker.
	Level 3
	Good application
	5–6 marks

	Level 2
	Good knowledge or limited knowledge plus reasonable application
	4–3 marks

	Level 1
	Limited knowledge
	2–1 marks


c Answers may include the following:

· A franchise will offer Paula some support in establishing and managing her business – she has no experience as an entrepreneur.

· Paula has not conducted any market research and so a franchise business model will represent lower risk – especially as the nearest franchise outlet is 30 miles away.

· Paula is talented and appears determined – her business has a good chance of success.

· It is possible that Paula has contacts that she could use to start her business – after all she has worked in dressmaking for some time.
	Level 5
	Good analysis and good application
	7 marks

	Level 4
	Good analysis or good application and reasonable application or reasonable analysis
	6 marks

	Level 3
	Good analysis or application or reasonable application and reasonable analysis
	5 marks

	Level 2
	Good knowledge plus reasonable application or reasonable analysis
	3-4 marks

	Level 1
	Answer contains relevant knowledge – basic points and/or evidence of understanding of relevant term(s)
	1–2 marks


Evaluation:  this may centre on Paula’s financial position. The case study does not make any mention of this and starting a franchise can be expensive. Can Paula afford to lower her risk by buying a franchise?
	E3
	Judgement with well supported justification. Answer has a logical structure throughout, with effective use of technical terms.
	4–5 marks

	E2
	Judgement with limited attempt at justification. Evidence of a logical structure and some use of technical terms. 
	2–3 marks

	E1
	Assertion or judgement which is unsupported. Reasonable evidence of a logical structure and little use of technical terms. 
	1 mark
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